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56 & S5 & EEH EHE (%)
HE RER GER 4N RER GER| 4% EER SER 4% EER BEK
2 £  #&| 150 10 161 156 3 168 -6 7 7 3.8 2333 4.2
[ 5] 27 27 27 28 1 3.6
;% ot 41 46 54 1 55| -13 -1 9 -241 -100.0  -16.4
= &t 68 73 81 1 83| -13 1| -10| -16.0 |-100.0 | -12.0
HERE (%)| 45.3 453 519 333 494
(2) BEFREIAIFEERR
3 30
(N) 2 20
1 10
0 _022 224 4~6 6~8 [ 8~10 [10~12|12~14|14~16[16~18|18~20|20~22|22~24 0
EEEEES| 0 0 0 0 0 0 0 0 0 0 o | ()
—— {5k 1 1 1 7 10 8 8 11 10 2 0
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56 & S5 & EE&K EHE (%)
T RER GER 4N (RER GER| 4% (EER SER 4% EER £EK
X E & S %68 73 81 1 83| -13 1 -10 | -16.0 [-100.0 | -12.0
% - & @ 1 1 1 -1 -100.0 ~100.0
%*ﬁ W 12 13 7 7 5 6 714 85.7
=T O 1 1 1 1
5t 13 14 9 9 4 5 444 55.6
B = v 8@ 15 15 10 10 5 5 50.0 50.0
;{‘*E ol 7 7 9 9| -2 2 222 222
4 E D 2 2 2 -2 -100.0 -100.0
= 5t 22 2 21 21 1 1 48 4.8
E & & %=
B ] 1 1 3 3 2 2 -66.7 -66.7
Egoa vm 21 25 36 1 37| -15 1 12| -41.7 |-100.0 -32.4
mE # B 8 8 8 9 g 11 1
EE i B 1 1 3 3 2 2 -66.7 -66.7
z O i 1 1 1 1
5t 32 3 51 1 53| -19 1| -17  -37.3 -100.0 | -32.1
B 1 1 1 1
(4) ZHFFANBEKR
Sf6 &F SM5 & TR 1R E (%)
smay BEY GER usau RER GEY|vsay BEY HER sy RER 55X
%X E A = % 135 73 162 1 83| -27 1 10 | -16.7 |-100.0 | -12.0
% I 1 1 1 1
FN ¥ £ 1 1 -1 -1 -100.0 -100.0
o 2z & 2 2 2 2
I it 3 3 1 1 2 2 200.0 200.0
s B = 3 4 6 6 -3 2 -50.0 -33.3
= & & 17 9 27 19 -10 -10 | -37.0 -52.6
S5FN -] 11 3 20 13 -9 -10 | -45.0 -76.9
= 5 & 28 15 49 2 -21 7 429 31.8
S5FN - 21 6 38 11| -17 5| -44.7 -45.5
z o | 84 42 79 1 35 5 1 7 6.3 -100.0 20.0
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